
Yorktown/Ridgefield Skybox Panel - 19798-100E   (05/20)
Copyright 2011, Creative Playthings - Printed in U.S.A.

Page 1Page 1

Parts:
63066-101   Yorktown Skybox Panel

A	 4	 33463-402	 Panel Board 11/16 x 5-1/8 x 49-3/4"

B	 2	 33464-102	 Panel End 5/4 x 4 x 19-7/8"

50494-700   Hardware, Yorktown Skybox Panel

	 25	 17025-104	 Screw #8 x 1-1/4"

	 32	 17025-106	 Screw #8 x 1-5/8"

STEP ONE - Install Skybox, then Wall Panels
Install the Skybox on a partially assembled Yorktown gym as shown 
at right. Once the Skybox assembly is finished, complete assembly 
of the Yorktown Gym. Do not install a Gable Fan adjacent to the 
Skybox

Yorktown/Ridgefield Skybox Panel

All hardware on this set is specially coated 
for corrosion resistance. If non-Creative 
Playthings hardware is used, it must be 

galvanized or stainless steel.

SPECIAL NOTES AND INSTRUCTIONS:
If the Skybox is to be used on a Yorktown or Ridgefield 
Gym, it is best to install the Skybox before the Door 
and Window Panels are installed.
If installing on a pre-assembled Yorktown or Ridgefield 
gym, the Gable Fan, Window Panel and related assem-
blies adjacent to where the Skybox is to be mounted 
must be removed; they will not be reused. The Double 
Window Panel and the Door Panel should be removed 
temporarily for access to the hidden surfaces on the 
adjacent Posts.

If possible, install the 
Skybox on a Yorktown 
or Ridgefield without 
Wall Panels



Yorktown/Ridgefield Skybox Panel - 19798-100E   (05/20)
Copyright 2011, Creative Playthings - Printed in U.S.A.

Page 2Page 2

STEP TWO - Panel Ends
Mount the Panel Ends (B) to the outer surface of the Posts shown 
at right. Rest the Panel Ends against the top of the Platform Sup-
port and fasten them to the Posts using three #8 x 1-5/8" Screws 
each.

Due to variations in positioning the Skybox Platform Support, the 
Panel Ends may be too long to fit in the space indicated. If this is 
the case, cut the Panel Ends to fit using a saw.

STEP THREE - Panel Boards

Evenly space the four Panel Boards (C) between the gym Platform 
Support and the Skybox Platform Support. Fasten each to the Wall 
Slats using six #8 x 1-5/8" Screws. If any hole in the Panel Boards 
is not backed by a Wall Slat, adjust the position of the Wall Slats.

Make sure a Gable Fan is not installed adjacent the 
Skybox.

CC

BB

Important: Do Not 
Install Gable Fan 
in this Position

Important! Before installing the screws in this step, make 
sure the tips of the 1-5/8" screws will not protrude on the in-
side of the gym. If they do, use the #8 x 1-1/4" screws included. 
Make sure the 1-1/4" screws are seated solidly in the backing 
Wall Slats.


